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SOLVING QUADRATIC EQUATIONS
BY COMPLETING THE SQUARE

INTRODUCTION TO COMPLETING THE SQUARE

I. Review Binomial Squares. T7hink about the rules to change...

A QUADRATIC TRINOMIAL —»> A BINOMIAL SQUARE
“X2 + Bx +§' = (x+3)?
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II. Completing the Square Now you can figure out to how to
complete these squares...
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III. Here are the rules to complete the square: v
1) The coefficient of X2...must be one(1). “AYmust=}
2) Take half of the coefficient of X. 1/2B
3) Square it. (1/2B)*

4) Add to the result. Do not round! The resuftis e



f+3) 2= C-t»r’i}(/t)r?)

/! = £ %4 3% + 3549
B'Q‘Egm‘; = 25+ 0E+Y & Aeinomie
/T_,,E&\r_ﬁxt-__"‘

Solve a quadratic equation

Solve t2 + 6t = —5 by completing the square.

Solution /

t2 + 6t = -5 Write original equation.
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@i cliLICER Solve a quadratic equation in standard form

[ Solve m2 — 16m +48 0 by completing the square.

Solution

2 —16m A48=0 Write original
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Solve BXZ -50x + 105 = 0 by completing the square.
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CHECKPOINT. Solve by completing the square
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